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4 cm and 3 cm respectively.

Immanuel Luthe.ran College

Mathematics - o .

If the lengths of the diagonals of a rhombus are 2 cm and -
4 cm respectively, what is the area of the rhombug 7

A. 2 cm= B. 4 cm> C. 8 cm= D. 16 cm®

E. It can not be determined.

A hollow cylindrical metal pipe, 1.m long, has an external
radius and an internal radius cf S cm and 4 cm respectively.
The volume of metal ig ’

A. 90n cm= B. 100w cm3 C. 180x cm3

D. F00m, cm®  E. 1800w cm®

A solid sphere is cut fnto two hemisphere. The percentage
increase in the total surface area is
AL 257 B. 33'/3 % C. 50%  D. 7S5  E. 100%

A rectangle box, without a lid, is 40 em long, 30 cm wide
and 10 cm high. The area of the external area of the box is
A. 2500 cm™ B. 3500 cm® C. 33500 ¢cm?2 o

D. 3800 cm= E. 12,000 cm®= :

The external and internal radii of a hollow metal sphere.are

Volume of metal

Volume of the enclosed empty space
A, 1727 B. 1/3 C. 4/3 D. 37727 E. &4/27

A s0lid metal sphere of volume 252 cm™ is mel ted and recast
into 3 smaller solid spheres whose radii are in the ratic

L =2 : 3. The valume of the smallest sphere ig

A. 5 cm™ B. 7 cm® C. 14 cm™ D. 18 cm™ E. 28 cm™>

The base radii of two right circular Cylinders are in the
ratio 2 : 3. If the two cylinders have the same height, what
is the ratio of their curved surface area 7

A. 223 B. 4 :9 C.8:27 Dp.J8: 037

E. None of the abave

A cone of base radius 2r cm and height h cm has a volume of
6O cm® . The volume of a cylinder of base radius cm and
height 4h cn is . . . :

A. 40 cm~ B. 120 cm™ C. 180 cam™ D. 240 cm™ E. 360 cm=

In the figure, the volume of the
Pyramids VABC and VPGR are 27 cm™
and 64 cm® respectively. Planes ABC
and PQR are parallel.

area of A ABC r area of 4POR =

A. J27 : Jea B. J37 : 64

C. 3 : 4 D. 2 : 1&

E. 27 : 64
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A solid rectangular iron block, 4 cm x -

and recast into a cube. The

decrease in the total surface
area 1is
A. 1 cm™
B. 2 cm™ "
C.. 3 cm™
D. 4 cm=
S cm™=

E.

Figure a shows a circular measuring

cylinder 4 ocm in diameter containing

Three iron balls, each of
are dropped inta the
What

water.
diameter 2 cm,
cylinder as shown in figure b.

is the. rise. in the water level 7
A. 1/4 cm

B. 1/3 cm

C. 1/2 cm

D. 1 cm

E. 2 cm

A SDlld iron sphere of radius r is melted and recast
a circular cylinder.
base

circular cone and
the same height h and the same
terms of r. ;
a. r/2 B.

r/1é C. 2r/3 D.

The weight of a gold coin of a given thickness varies as the
If¥ the weighis

square of its_dlameter.
in the ratio 1 : 4,

A. 1 2 B. 2 : 1 cC. ¥ 4 ~D.

A cylindrical hole of radius r
is drilled through a solid
cylinder, base radius 2r and
height r, as shown in the figure.
The percentage increase in the
total surface area is

A. O%L ’

B. 1&6=/3 %

C. 20%

D. 2Z5%

E. 3I3/3 W

The figure shows the circumscribed
circle P and the inscribed circle
@ of the square ABCD. Find

area of Q.

A. J? : 1

B. 2 : 1

c. 2J2 : 1

D."mw s 1

E. 4 : 1

ANSWERS :

1.8 2.0 3.C 4.A 5.D &.B
f1.A 12.E 13.D 14.D 15.A 16.D

21.8

P.Z
Xx 1 cm is melted

lem

Rem

radius r,

3Ir/4

“4cim

Lorrmys.

) b

into a
-1f both of them have
find h in

E. r

of twa such coins are . |

then their diameters are in the ratio
1 E. 1 = 16

*

?.D 10.C
19.A 20.A



10, In the figure, ABCD is a straight
(86) line with AB=BC=CD. Three circles
; 1, Il and IIl1 are drawn respectively
on AB, AC and AD as diameters.
Area aof circle I : Area of circle I1I
: Area of circle I1I =

AL L 2 2 20 3
B, 1 : 2 : 4
Cc. 1 4 9
D. 1 4 1 16
E. 1 2 : 27
T1i. Valume of the sphere

(B6) In the figure, if -
Volume of the right circular cylinder

then - =
, .
A. 3/2
B. 3/V2
[:':_ x4
D. 9/ 2
E. 9/2
Right qir:ular
Sphere cylinder
12. ABCDEFGH is a cube of side 2 cm. & C

(B&) A tetrahedron DACH is cut away
along the plane ACH. The valume
of the remaining saolid is
A. &6 cm™
B. 2 cm™
C. 13.5 cm™
. 18 cm=
E. 22.5 cm™

3. The total surface area of a regular
(B6) tetrahedron of side 3 cm is
A. 9374 cm= '

B. 9 cm=
C. 27J3/4 cm=
D. 9J3 ca=

E. 123 cm= T

14. The radii of two solid spheres made of the same material are
(87) in the ratic 2 : 3. If the smaller sphere weighs 16 kg, then
the larger one weighs ’
A. 24 kg B. 36 kg C. 48 kg D. 54 kg E. 60 kg

15. ABCD is a trapezium in which AB 4 DC,- A Eem B

(87) AB = B cm, DC = 18 cm,AD=BC=13 cm. // %
Find the area of the trapezium.’ em
A. 156 cm= Y I\
B. 169 cm= A / | \ _
C. 216 cm= : / S \
nD. 312 cm= D <

E. 338 cm= - 1§ em
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